dE/dx estimator 1 |

r T M M T T " Entries 239977
R = e i.....i.| Mean 2.54
022- : : _I- : : . Std Dev 1 382
0 2H : : . : : : . . l
TE : : : Entries 240380
0185 ------------------------------------------ Mean 2.541
= Std Dev 1.382
T e EO ARt St SRS S S|
o Entries 240100
0.14p it Mean 2.541
r Std Dev 1.381
I R i S R O s S S Sl
r Entries 241806
0| Nt I AR St Mean 2.545
o Std Dev 1.379
O o I 0 I e
u AU . . i......i...| Entries 240266
006: : : : : : Mean 2.542
004: ..... ...... ...... ....... S[:d Dev: : 1.381
0.02F it e RS Sl S
L.LG l! .||||:||||:||||; I _,! -!--‘| 1
- ; S AndR e o+
T LT TR L T
| E*-“ F : ::-'-0- :-0- 1;
o -u- H ?r -"-“!_‘_ 1,; T+
- : - <+

6

78 9 10
dE/dx, harm?2

| dE/dx estimator 2 |

- Entries 239977
025 : Mean 2.38
: Std Dev 1.32
: Entries 240380
0.2 - Mean 2.382
. |.Std Dev 1.32
| Entries 240100
0.15 ... Mean 2.381
) . | std Dev 1.318
¢ | Entries 241806
: Mean 2.386
0.1 i | Std Dev 1.317
¢ | Entries 240266
: Mean 2.382
0.05 "] Std Dev 1.319
n || ||||.|||||||. | -i- .i. )
9 e . . . it
S [l et TH ETLE
a - * a <+ |:
(e AL 5 :E el T4
"1 “r= -1 a 11
aREG TIHEH T T4
BT STEFEL R -
C L) S1EE T 4T
0 : *+ ARGs
6

7 8 9 10
dE/dx, trunc40

M _C
M_C
M~—M
M_TE
M_TE

KF
KER
kF

S
S

FiT_1T000evt
EFit__1000evt
itREFiT_1000evt
TOLHIT 1000evt

dE/dx number of

0 10 20 30 40 50 60 70 80

measurements

Ratio

Mean 6 864 0 7 ____________________________________________ Mean 0.3977

""""""""""""""""""""""""""""" Std Dev 5.256 . Std Dev 0.7335
""""""""""""""""""""""""" Entries 240380 : v Entries 240380
Mean 6.859 0.6 : Mean 0.3976

""""""""""""""""""""""""""""" Std Dev 5.254 ! Std Dev 0.7333
""""""""""""""""""""""""" Entries 240100 O ’ 5 " Entries 240100
Mean 6.866 Mean 0.398

-------------------------------------------- Std Dev 5.254 Q.40 Std Dev 0.7335
Entries 241806 b : : : : ¢ | Entries 241806

Mean 6.861 0 33_ ...... . .. e e .| Mean 0.3972

R R R Std Dev 5.249 TH : : : : i | Std Dev 0.7326
""""""""""""""""""" Entries 240266 02 Entries 240266

Mean 6.865 b Mean 0.3978

------------------------------------------ Std Dev 5.254 a Std Dev 0.7333

o

D
L A e 8 B

=
T 1-|-r-!-1-
=

095

dE/dx number of measurements

0 10 20 30 40 50 60 70 80

with saturation



	Contents
	Page 1


